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A bridge mwéze; has a peak inverse voltage (PIV) :

“@%@ Reszardl @ waw Rret dwea § ¢
f‘"":‘”“‘"““ ;“"’“‘“’“"‘“
» 7, ®) 27,
gf"
7 ¥ AT om
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sistor acts as an open switch 7
(B) Active region

In which region a tran
(A) Inverted region.

(C) Caut off region (D) Saturated region
zifret fre &9 ¥ @ ge g @ O o9 w5 7

(A) wRerr & (B) =fpa &

(C) oo &F (D) ¥« &5

If firing angle is increased, then the average output of an SCR -
(A) Remains unchanged (B) Is increased

(C) Is decreased (D) Changes in polarity
TR wrafor & @ ge ¥ o we SCR & offen Fefd = -

(A) emfERia @& (B) =&

(C) =& (D) % YAIsB § S B

A Silicon Controlled Rectifier (SCR) has :

(A) Four layers and three junctions (B) Three layers and two junctions
(C) Five layers and four junctions (D) Two layers and one junction
e vt Frafe s (SCR) # ¥

(A) oIX 998 @ O SHRE (B) & ©oE aul & WEyE

(C) dfg §ag aur 9t s (D) T T8 TAT TH SHE

Ripple factor is define as :

r.m.s. of a.c. component d.c. component

(4) d.c. component (B) r.m.s. of a.c. component
~ peak value of a.c. peak value of a.c.
(© r.m.s. of a.c. component D) d.c. component
G 7o TR Bl §
. Teargdl w2 W A A W B Ee
(A) e wew (B) TR HeE B a A qW
TR T W et " TR GeE w1 Y A
(© el wH @l 9 e qd D) e wn
63 (1920) ] = 2 [RT.O.
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Zener diode uses as

(A) Rectifier (B3
(C) Reguiator (D)
6 2 R T RA ﬂﬁoc‘i @%{1% 3{5 :

{A) %ﬁa"@g:@ % wq A (B)
(C) Frwm % wa & (D)

The forward voltage drop across a diode is
% SIS W o Ree U @ A Bl ¥ -
5A} 2.5 1
)y 10V (D)

T
<
E%é

A power factor meter has -
(A) One current coil and two potential coils
(B) One current coil and one potential coil

LN i
[ERE!

D At}
fasers % ®Y |

£, - T3
frer w9 o

about -

(a2

g

(C) Two current coils and one potential coil

(D) Two current coils and two potential coils

wE iR e TeE F B § -

(A) Wb uT HEN qur & fgue g
(B) ws urr deell gun ww favg el
(C) = gee qun T fove geat
(D) = = gser war & fava Hee

S:‘\

Y
7

If a voltmeter is connected in series with the load then -
(A} The measurement reading will be too high
(B) Almost no current will flow in the circuit

(C) The meter will burn out
(D} High current will flow

ufe e fwead &) Wt & 9o § dafse e B owmwer ¥,

(A) =i ofyr el sl
(B) witwy & @y sy g yaid gRl
(C) =19 O 9

(D) s ura werse o

Moving parts of measuring instruments are supported in -
Ball bearings

(A) Bush bearings (B)
{C) Roller bearings

(D) Jewelled bearings

AT YA W T Sl %) Ser GO SR § -

(A) a1 SwreT (B) =@ Smftr o

(C) Tmx St # (D) Fwe dEir §
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11 In which types of instruments, air friction damping is used 7 16 Argon gas is filled in filament lamp to -

(A) Moving iron (B) Moving coil (A) Reduce the glare of light

(C) Induction (D) Hot wire (B) Improve the efficiency

e TP & TUBY H, Iy TN STEHeET & WA B § 7 '(C) Change the colour of light

(A) == f’??g q (B) = .S'f?”@é{ (D) Retard the evaporation of tungsten filament

(©) o ¥ (D) &< @ A T g AT o A @ e ¥ -

g o . (A) TeTST W TSI B BT B B @Y

12 Unit for electric field strength is : (B) zEer @ wet B B

(A) Volt/ meter (B) Farad/meter (B} A @l aeT @ RS

(C) Weber (D) Hertz (C) rohtat 1 T e & forg

g & R @ 9. & (D) TTRT o & I B BT BT B T

(A) e | 9T (B) WUs/HX

(C) =% (D) &= ' 17  Which lamp is best suited for lighting an international sports stadium 7

{A) Filament lamp (B) Metal Halide lamps

13 The PMMC meter can measure - (Cy CFL (D) LED lamps

(A) Only AC guantities HF-TT WO UH ISy o wfum & g it shw ¥ 7

(B) Only DC quantities (A) wg (B) e ¥egs oY

(C) Both AC and DC quantities (C) drusw. (D) LED #u

(D) Only very high frequency quantities

PMMC 7T =19 g & -

18 Neon sign lamp is used for -

(A) Faw o it

(B) aw S, TR (A) Reading rooms B) H{mse%
©) T gu S A R {C); Endasz;r‘aes (D) Advertisement
(D) o sl g el iRt Prafe argw &9 @ wEr e ¥ -
(A) T & g (B) =4 H
14 The internal resistance of the ammeter should ideally be : (C) wemlt (D) femott %
(A) Very large (B) Zero
(C) Infinite (D) Very small 19 In neon signs, helium is used for :
e w7 onast arafte Wiy whw | (A) Orange colour (B) Green colour
(A) sz wumr (B) ™ (C) Red colour (D) Blue colour
(C) eFg (D) za fro gog &, Rfvow o gogim o §
(A) =&y % fag (B) s @ % g
15 Meggar is used for - (C) =@ 7 ¥ fog (D) e 1 ¥ Rw
(A) Testing EMF (B) Testing temperature
(C) Testing Eésuia‘i%eﬁ resistance (D) Bridge balancing 20 What is the range of visible spectrum ?
TR T AW E - Lo 39g degd @ I09 w7
(A) Toga =ee w@ & S o (B) @9 & Wiy H c A . .
o . ] ) (Ay 200 nm — 1000 nm (B) 300 nom - 760 nm
(C) g & wr @ e (D) o & wge A (C) 380 nm ~ 740 nm (D) 480 nm — 1000 nm
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21 The three resistances each of value 3 Q are connected in deita. Their value in each 26
branch of equivalent star connection will be -
(A) 98 By 64
(C) 34 D)y 10
3 & O ¥ W Iy (Gde) 3w ¥ g € ) ehge R 9O ¥ e w9 S
"B -
(A) 9 et (B) 6 &=
(C) 3 & (D) 1o
22 Which of the following lamp gives monochromatic light ? 27
(A) Sodium vapor lamp (B) Tube light
(Cy GLS lamp (D) Mercury vapor lamp
fre # § s o9 el yenT a7 ;
(A) wfTs Oy &9 (B) eqEwEe
(C) TTawE. 79 (D) U 9T WY
23 Sodium lamps are used for -
(A) Reading rooms (B) Street light 28
(C) Auditorium (D) Libraries
aifsgg &7 @ W TR ¥ - '
(A) T=wg & fwe (B) st & fog
(C) enfEaiimm & g (D) gwow™ & Wy
24  The colour of light depends on :
(A) Wavelength
(B) Frequency
(C) Wavelength and frequency 25
(D) Wavelength, frequency speed and intensity
TS A T HW 8
(A) TR W
(B) emgRr =
(C) atesd g emghy o
(D) whre, g g g )
25  Which of the following is the correct sequence of stages of data processing in a : 30
computer 7
(A) Data collection - Input raw data - Processing of data - Output
(B) Data collection - Input information - Processing of data - Output
(C) Data collection ~ Data processing - Information data - Qutput
(D) Data input - Data processing - Data collection - Output
ey ¥ BE-a BT ¥ SRy TERT % S % el oHT & 7
(A) ST EUEY — YL HEdl ST — ST B WERIT - $eeye
(B) =TT §UEW — YT GEAl — ST @ 9l - eeye
(C) =t §UEY — 1T TR — ST & gEe - SRy
(D) ®=T 39gT — ST QR — SRy 9UE - SNy
63 (1920) ] == 6 [ PT.O.

Eight Bits make up a :

{(A) byte {B) megabyte

(C) kilobyte () gigabyte
s T T ¥

(A) T S (B) & TERET

(C) ww freeme (D) w fFrmese

What is modem connected to ?

(A) Motherboard (B) Processor

(C) Printer (D) Phone line

e fheY WET R ¥ 7

(A) weEE (B} wWEER

(C) BRx (D) ®F T

RAM in computer is made up e material.

63 (1920)] 4

(B) Conductor
(D) Metal

(A) Semiconductor
{C) Insulator

o § RAM . uEre w1 S BT §
(A) wEETEE (B) =@
(C) pows (D) ug

Which among following is not an input device ?
(A) Scanner (B) Printer

(C) Keyboard {D) Mouse
= # ¥ wiF—ar g Ramg T § °

(A) @ (B) Biex
(C) @aEE (D) =g

The core of armature of a DC generator is laminated to -

(A} Reduce the weight of generator

(B} Insulate the core

{C) Reduce eddy current losses

(D) Reduce Hysteresis losses

SLEl. S @ SRR B % g e § -
(A) wFE & 9 B9 5 & Mg

(B) =R & e sAH & Wy

(C) ¥ex g whel o9 v & U

(D) ‘=i sl o o9 50 & ~g

~
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How cross magnetising reaction of armature reaction in DC generator is neutralized *

(A) Introducing compensating winding

(B) Having interpole between main poles

(C) Shifting brush position from GNA to MNA

(D) Increasing ampere-turn in field winding

. whe ¥ ey Ruem @ so—aweaht oenw &8 g e 7

(A) FAUREN $ET SWEHT

(B) T §a % Y9 IO ST B

(C) GNA ¥ MNA g3 @ Rufy wemaRa s

(D) &= Fowr ¥ UhwER-2d §omT

When the speed of DC motor is increased then -

(A) Back EMF increases and current decreases

(B) Back EMF decreases and current increases

(C) Back EMF and current both increases

(D) Back EMF and current both decreases

wg . AR @ T B 9§ ar -

(A) % EMF wgar § a1 ey uedl ©

(B) % EMF uear & 997 &1y seal &

(C) % EMF Tur arg & sear §

(D) % EMF aur gry a9 oo §

The starter used with a constant speed motor is a :

(A) Z2-point starter (B) 3-point starter

(C) 4-point starter (D) S5-point starter

Rt oW AR & WY WET IUEN ST ©

(A) 2-9rET WX (B) 3-wrEe ®iY

(C) 4-wEe ®RY (D) 5-@Ee wWRX

In DC generators Lap winding is used for -

(A) High voltage, high current (B) Low voltage, high current

(C) High voltage, low current (D) Low voltage, low current

S Wi § o afE e v s ¥ -

(A) s fawe, o=@ Orq & T (B) = fuwg, v i & fom

(C) s=g fawg, 91 g & g (D) = fawe, P oura & foQ
(1920) | == g [ PT.O.

35 Load factor defined as :
maximum load average load
(A o= T By LF =
connected load N connected load
average load connected load
Y LR = (M LE =
& i . ) D] A .
) maximum load = maximum load
:;alg'a‘ i O ol - A,
NISERIEHE T THY hd Wi B
b
a1 oo STHH WE ) - glem s
(Ay LE = —— R (B LF = ——
HEdE WE RELCESIE]
Y A .
, ‘ ST W . g @
{C) LF = —r——mee (D} LF = ——rme

TEH AR eI WS
36 For smaller machines the yoke of a d.c. machine is made up of :
(A} Cast iron (B) Mild steel
{C) Cast steel (D) Rolled steel
B 7 % f R wmo wsie @ Oie w g e §
(A) ®E FEE @ (B) =Wa € @
(C) ww & & (D) s € @

37 The commutator segments are insulated from each other by :
(A) Bakelite (B) Mica
(Cy PVC (D) Hard rubber
S gsl W TH-gEt § g i e ¥
(A) IheTEE B (B) wEe BT
(C) &4 5o (D) ¥ WX T

38 In Lap winding of a DC generator, the number of parallel paths is always -

(A) Double the number of poles
(C) Half the number of poles (D) Two

T L. S B AT FeAl ¥, guma ouf o wer w8 el ¥ -
(A) gai @t g & g (B) gl &l ¥& & whqe
(C) gai & de & e (D) =

39 A capacitor start, capacitor run single phase induction motor is basically
(A) AC series motor (BY DC series motor
(C) 2-phase induction motor (D) 3-phase induction motor
% BT Wi HURET T U@ B WO AR fW T 9 ¥ -~
(Ay wEnL 2ol Ay (B) siEn S "Ry
(C) 2-war YO HreX (D) 3-ww YT HieX

63 (1920) 1 9
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40  Which test on a transformer provides information about regulation. efficiency and
heating under load condition 7
(A) Open circuit test {(B) Back to Back test
(C) Hopkinson's test (D} Short circuit test
T THGHT @ BT Y Igel e, gue T @ @ e <o § 7
(A) & oiEy wiE (B) ¥% T 3% w9
(C) wialhaw @g (D) wg gty @fg
41 The material used for making & fransformer core is :
(A) Cast iron (B) High carbon steel
(C) High silicon steel (D) Mild steel
ThaErER @ B W H, vared e ¥ e ¥
(A) FTE JUEE (B) v wEw €
(C) v RGivem 2 (D) & €W
42  An autotransformer has only winding.
(A) one (B) two
(C) three (D) four
eEEEHER ¥ Faw aEfT T ¥
A @ (B)
(C) = (D) =X
43  Which of the following is not the function of a transformer oil 7
(A) Cooling the primary coils (B) Cooling the secondary coils
(C) Providing additional insulation (D) Providing inductive coupling
e & ¥ - ahonfE & oW W e A 7
(A) wiufs gsew & Saes (B) & gea @ shaed
(C) oifafeT Fomema Yo ST (D) T gEE YEH S
44 Iron loss in transformer occurs in -
(A} Core (B) Winding
(C) Insulating oil (D) Main tank
aftenfisr F @E s 9l Sy 5 -
(A) BH (B) Feow o
(C) paws oa o (D) = <& H
45 In a cable the voltage stress is maximum at :
(A) Insulator (B} Sheath
(C) Surface of the conductor (D) Core of the conductor
Hed ¥ dicear o ARImaT BT §
(A) FIWE W (B) &N WX
(C) T @ §aE WX (D) =& Y B T
63 _(1920) ] = 10 [ PT.C.

46  The surge impedance of a transmission line is defined as :
—
g 7 & J—
Iy .. pape
Ay A/C (By « L
o~ ST R —
i\L} w1 {\E}; O~ L

: , % i Dy .
CIRITHATT Wi & g8 ARETE &P TLIIYT H@ §

J

A J;{I j ; ;NK:NMW:“
(A %j JC By ~iC

) s . I
(Cy ~L+C Oy ~O-1L

47 The size of the conductor for cables depends upon -

(A) Insulation (B) Current
(C) Voltage (D) Power
e D Dol A
O BEW & OIS o e P e ¥ -
(A) FETEE UX (B) &g w
(C) fmg ™ (D) of o

48 Breaking capacity of a circuit breaker is usually expressed in terms of-

(A) Amperes (B) WVolts

() MW (D) MVA

uftay feieres ) fueder guar & granr weldle v s
(A) ohmgat ¥ (B) frwg ¥

(C) waE # (D) R ¥

49  Numerical value for voltage regulation of transmission line should be :

(A) High
(C) Low

(By Very high
(D) Medium

OO WET o dedl MOET &7 e ue g e -

(A) w=
(C) P

(B) wga v
(D) weaw

50 The efficiency of a thermal power plant improves with :

(A) Lower load in plant
(C) Increased quantity of coal burnt

(B} Use of high steam pressure
(D) Larger quantity of water used

Y T Wi @ §9al & SR O 9ol § o

(A) @i & ®F %9 5l
(C)

TUTET HIST H O T

(B) W= WM §E @ ITU @]
(D) Ul & oy weT ¥ ST %Y

63 (1920)] + 1
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The primary winding of a current transformer has
(B) No turns

(D) A few turns
TE Bl EETR s uelbm geew ¥ ¥R ¥
(A) wals W @ dew (B) &g %Y wEf

(A) A large numbers of turns
(C) Intermediate numbers of turns

(C) =g §80 & W (D) B B

Which type of insulators are used for 132 kV transmission lines 7
(A) Pin type (B} Suspension insulators
(C) Shakle type (D) Pin and Shakle type
132 ey @ gExor @A F ReW T o Sgwel v H w0 § 7

(A) e 9o @1 (B) w&RF gy

(C) S wH @ (D) R T %W ST @
In a thermal power plant, heat from the flue gases is recovered in -
{A) Chimney (B} Superheater

(C) Economiser (D) Condenser

e 9 R E o Fria T 9 o @ g s 8 -

(A) Ty ® (B) orfemes o

(C) wmEmEeT o (D) == H

For a sinusoidal ac voltage of peak value 100 V, the rms value is -
oy SorEm ac aear & 9% (RreR) deedr 100 V R, @ Wi qW A § -
(A) 200V (B) 150V

<y 30V Dy 707V

Which of the following is a low pass filter 7

{A) L-type with series C and shunt L
(B) T-type with series C and shunt L
(C) T-type with series L and shunt L
(D) L-type with series L and shunt C
frer & ¥ FF-—w P feee ¥ 7
(A) L-zigg, oofi C g wigd L & @1y
B) Teey ot Cgund L& @y
(C) Tery, 9ot La od L & iy
(D) L-zgy, 9ot L 9 9198 C & ™

oot
]

oy

"
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%6 Kirchhoff's Second law is based on law of conservation of :
{A) Momenitum

7

{C} Charge (D) Mass
Rrcars @ feder fram frg Prow & deoeer o el & 7
(A) g3 B) o

(C)y ey (D) weumE

57 The resistance of a straight conductor does pot depend upon its :

(A) Shape of cross-section (B Temperature
{C) Material (D) Length

T A Tws o vhooy g s el S wwm v 2

(A) ST W FH AER (B) grae
(C) uerd (D) =

58 The method of heating used in an electric room heater, is -
(A) Resistance heating (B} Induction heating
(C) Dielectric heating (D) Arc heating
T 9Ygd BRI X 9o & oe-u Ry pwm A ¥ 7
(A) wReoy am (B) o O
(C) wrge ww (D) ond =

58  Dielectric material is a ;

{A) Good conductor (B) Insulator
(C) Resistor (D) Capacitor
EREECICER I S
(A) oS TS (B) geuwe
(C) wirdel (D) dafe
60 Power is defined as -
Work Time
g Power = ) POWEr = e
(A) Fower Time (B) Pow Work
vl latanoe
(C) Power= m?,g &}gi&w (D) Power = %Efjjfi
Distance h Work
st bt afonfye @ ¥ -
A) ofR = —— ( R =
(A) o = — ®B) afe = —
et 3
C) s = —— (D) s = —
© - (D) whe = —
63 (1920)] == 13
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61 Weston Cadmium cell is a 65 Equivalent resistance between points 4 and B will be -

(A) Primary cell (B) Rechargeable cell ¥ A oyt B & ww ge yRY 2R -
(C) Secondary cell (D) Dry cell .
I BT 9 ¥ M —
(A) wufE ¥@ (B) Tawisw ¥ J ) /,/ {
(C) fTdas ww D) = I« 30 P $5Q
e
e
62 When is Wheatstone bridge circuit balanced 7 ' . o "
‘ e : ’ 10 Q
(A} When voltage applied is minimum. )
(B) When current flows through the opposite ends of the bridge circuit. (A) 35Q By 250
(C) When no current flows through the galvanometer. €y 150 D) s
(D) When impedance is minimum.
. . 66 Moisture content in the soil .. the earth soil resistance.
Freen fae & ooy $9 d9gfaa s & 7
{A) decreases (B) increases
(A) TS 9YHRT [€QHT TTFRE B (C) does not effect (D) first decrease then increase
(B) w¥ &’ & ol ooy & wro yarlka g/ ¥ B o A @ T ad % P & wRdg B o FE
(C) € TemERT ¥ B O yartea T8 R0 8 (A) =" (B) wum
) 3 5 AR ; =N : 3
(D) e R e @ (C) =i wwre W& (D) us@ @9 &l © 9% § ST 8
' o 67 When the 3-phase Generator is not grounded and if Single line to Earth fault occurs,
63 Current /" through 20 Q resistance will be - the voltage of the other two healthy phases will -
20 0 whrdy ¥ gt 7 @ =9 B — (A) Increases (B) Decreases
(C) Remains unchanged (D) First increase then decrease
I TS 32 S N q-Waiha Tel 8 aul U% weT § -39 uiew € o a1 o 8 e @
14 <T> g 18 Q %23 Q (A) T (B) =&
(C) erafafis @ (D) use SO ST TS
A) 204 B) 14 68 Which types of cable is used for LAN (Local Area Network) wiring in Hotels ?
(A 204 ' | 9w & LAN (W S Sead) aaien % Rig @ daw v & on ¥ 7
“ (Cy PVC (D) TRS
64 Which of the following has negative temperature coefficient of resistance ?
(A) Tungsten (B) Carbon 69 Wire coil acts as a/an :
o L. (A 3 3 o 3 b £y
(C) Nichrome (D) Platinum ggf gaﬁrfc plate 5% ?ﬁmmm&gﬁﬁ%
. : { ~lectric wire (D) Conductor
e ¥ ¥ Teuer sy & Y %oTee awEE e § 7 R )
. @ Fee B W S
(A) <R (B) @ (A) fogm @e & X w (B) fw e & 97 W
(C) =M (D) wifew (C) Torge aX & 8% (D) TF% ¥ aT T
63_(1920) 1 + 14 [PT.O. 63 (1920) ] 15 [PT.O



78 Which device is used for protection against earth fault ?

ﬁﬂm@ﬁ%ﬁiﬁqﬁ@g %Qm;m @%f
(A) MCB (B) ELCB
(C)y MCCB (D) Fuse
71 . wiring is recommended only for temporary installations.

(B) CTS

(D) PVC Conduit
shor o Rrefyr ordll eelem & T o ¥ )

(B) CTS

(D) PVC wege

*’A} Cleat
(C) Metal

(A) T
(C) urg

72 What is the full form of MCCR 7

(A) Metal Case Circuit Breaker (B) Molded Case Circuit Breake
(C) Miniature Case Circuit Breaker (D) Mobile Case Circuit Bre ak@
MCCB & g0 ¥9 &1 § 7
(A) e & gihe §&1 (B) s %Y Tibe Y
(C) PafEr &w wfbe d@¢ (D) "NEW ¥ wibe 3%
73 Symbol of fuse is -
W & GHaem § —
(A) (®) i :%}
\\
(©) @) N
N
74 For high frequencies, capacitor acts as :
(A) Open circuit (B) Rectifier
(C) Ampliﬁer (D) Short circuit

sor egfy WX duiy B e §
(A) @ 9Rgy & R W
(C) wode & dR W

(B) Rwsd ¥ d
(D) wg ufEy & IR W

75 The energy of a charged capacitor resides in :
(A) The electric field only
(B} The magnetic field only
(C) Both the electric and magnetic field
(D) Neither in electric nor magnetic field
T ol Tuihe ¥ o W e
(A) Faw fogm a3 o
(B) Saw gueE &F §
(C) T @ g &5 3l o
(D) foga 9 g a9 aql o TE

63 (1920)1 + 5
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77

79

80

63

{
N

Single phase motors are commercially manufactured upto -
(Ay 1 HP (B)y 2 HP

(Cy 5 HP (D) 10 HP

v oo Ged wEaie vy ¥ Bt o § -

(A) 1 HP. & (By 2 HP w5
(C) 5HP @ (D) 10 HP =

>tion motor is designed to run
nected to 60 Hz supply frequency

A squirrel cage ;ﬁﬁfﬁ
happens when if is co

(A) It will burn {(B) It will not start

) 50 6

(Cy Run at — of rated speed (D) Run at — of rated speed
i 6 £ AN o

(oY

at 50 Hz supply frequency. Wha
5

e el 9w wRR @ 50 Hz amgin ol el % fog 9 e ¥ 1 @ 60 He ey

I TG X EANE & UK @ gled s 7
(B) @ = T Brl

(A) TE W& W@

5 6
{C}%@&ama&gw%ﬁw (D) %ﬁﬂiﬁwﬁgmﬁ—@w i
Which of the following does not cause hunting in synchronous motor ?
(A) Variable £ (B) Variable load
(C) Variable supply voliage (D) Windage friction
o o - RieFe e d i mrao =i ¢ 7

requency

(A) uRemmeia emgha (B) wfEdndw Wi

(C) wiedseiw e favg (D) =g ww

Slip ring induction motor has :

(A) Low starting torque (B) Medium starting torque

{C) High starting torque (D)
il sera Ao WeT ¥ g ¥

(A) w% urifhe @ el (B) www wifve @ omgd
C) w= yithe @ ool (D) @ 9« oy

Zero forque

‘Crawling’ in the induction motor is caused by :

(A) High loads (B) Improper design
(C) Harmonic developed in the motor (D)
U9 HRT H OO W B o
(A) ST W®

(C) =T ¥ T I BT

of machine
Low veltage supply

(B)y =3 w1 e A
(D) &9 drear qgaT

(1920) ] =4 17

[PT.O.
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81 In induction motor, greater the number
(A) Lesser the speed
C) Lesser the frequency
T T N, U Wewn § ogg w ol
(A) = gl
(C) emgfa walt

Y Greater the speed
(D) Greater the frequency

(B) T g
(D) emafe T

82 In induction generator operation, the slip is always :

(A) Positive
(C) Infinite

(B} Negative
(D) Zero

TH W TR 6 B #, Rey vl Bl

(A) EFTH
(C) sm=

(B) HUT®
D) =

83 If any two phases of an induction motor are interchanged :
(A) motor will run in reverse direction
A%
(B) motor will continue to run in the same direction

(C) motor will stop
(D) motor will burn

ufr ) e 9T & BE g s ongd ¥ gREild oY € WG, 99

(A) HreT uyg fEew ¥ Terl
(B) #rex 3@ few & =l
(C) HRY & SRE

£

(D) wexY Sw SR

84 In a transformer the resistance between its primary and secondary windings is

(A} Zero

(C) Infinite

e gEeHR d welte @ aee dee &
(A) 3@

(C) e

(B) Very small

(D) Cannot be predicted

ded . wkey B
(B) =T &

(D) i T8 @7 g

85  Iron loss for transformer is 400 watts. What will be the copper loss when the transformer
is working on its maximum efficiency ?

(A) 1600 Watts
(C) 200 Watts

(B) 400 Watts
(D) 100 W’zzts

TH SEEET A W B 400 T2 ¥ | 99 SiewE] e STEaae SeTaT 9T #Y @ (6T § a9

TOeh O sl o By 7
(A) 1600 T
(C) 200 T=

63 (1920) ] +

(B) 400 =
(D) 100 @

18 [ P.T.O.

86 Which of the following condition is not necessary for the parailel operation of two
transformers 7
(A} Percentage impedance should be the same
(B) Polarities of both secondaries should be same
(C) Voltage ratings should be the same
(D) KVA ratings should be the same
e o ¥ - o = o ‘95 TR B BT & [ SEIUE TR & ¢
(A) wiase sy W@M %ﬁf S
(B) ==l fEKow w1 gEen SR z%??il( i
(C) T Eél%(\g\'e%“ﬁ\wz (»"% e Y
(D) ®.dnT W gagw o Ty
87 The phase shift in a star-star connected 3-phase transformer is -
TH BT Ui 3-%w R A e e e ¥ -
(A 0° (B)y 30°
(C) 60° (Dy 120°
88 The primary and secondary voltages are :
(A) 1809 out of phase in a transformer
(B) always in phase in a transformer
(C) 90° out of phase in a transformer
(D) 30° or 60° out of phase in a transformer
Wi ¥ {Edihe aeed §
(A) siEwET ¥ 180° wmwiex o
(B) TiEw™T ¥ TH9T TS & Bl o
(C) TEwET § 90° sk I
(D) Trawrt § 30° sar 60° waal OX
89 Which chemical is used in breather for transformer 7
(A) Silica Sand (B) Silica Gel
(C) Asbestos fibre (D) Sodium chloride
TEGEET 9 HF-9 OO ST % ®9 § S9N BT §
(A) e §s (B) Tafemm S&
(C) TEwE g (D) ORww Tss
90 R, is the resistance of secondary winding of the transformer and X is transformation
ratio. The equivalent secondary resistance as referred to primary side will be -
weh aRenfis & Rdios geae @ ity R, § au suw IiEad ofue Kt | e dee
& WS W ST gl TRy B -
(A) KR, (B) KR,
R, ; R,/
© &/ @ Y
63 _(1920) ] = 19 [ PT.O



91  Voltage across capacitor C, will be - 96  When phase sequence of S{;g&g}é}{ at 3-phase balanced load is reversed -
g C. vt R B - ) {A} Phase powers are changed
! (B) Phase currents are changed
LUF IUF . {C) Phase currents change in angle buf not in magnitude
[ M (D} Total power consumed is changed
o C, TE T 3-Uw g WK U SIS @ Ga-oHEd B oy ¥, o9
(A) we sty aiEffe o ol ¥
(B) wwra gt shefe o ol ¥
- (C) weg grwel! & Hv arEkia sar & w9 7
3;;; 'g, (D) pw iR o sREk e 9RY §
(A) 100V By 200V 97  Which of the following does not define power factor ?
C)y 150V (D) 300V | {A) 1t is the cosine of angle between voltage and current.

(B) It is the ratio of resistance to impedence.
(C) 1t is the ratio of active power to apparent power.

92 A capacitor consisis of :
(D) It is the sine of angle between voltage and current.

(A) Two dielectrics (B) Two conductors

(C) Two insulators (D) Two semiconductors Frer F @ wE-E g e B a8 s ¥ 7
s dafr ¥ 2 ¥ (A) T TOue qur i & WS WO B Ho TAT §
(A) & wdge (B) & =w® {B)%Wﬁ%ﬁmﬁmw%%z

(C) & gar= (D) @ e (C) d5 HRiwr gim qur oWy STRRT o OO BT §

(D) u® [vE qur aTv & 98 W0 BT W S ¥

93 The unit for magnetic flux density is :

(A) ohm/meter (B) Tesla 98 A frequency of 900 Hz is called :

(C) Amp./meter (D) Farad/meter §A> Agdée» fmgamw (B) Radio %6@? ney
s (C) High frequency (D) Ultra high frequency
JEBT TR T DI 5HG . 900 Hz smafy Feamd & -
(A) et (B) = (A) e s (B) YRl ey
94  Hard magnetic materials are used - 99  An electric iron is rated as 230 V, 500 W, 50 Hz, AC. The value of 230 V refers to-
{A) in electric traction (B) for relays (A) RMS value (B) Average value
(C) in circuit breakers (D) for making permanent magnets (C) Peak value (D) Peak to peak value
TG GBI T W T e § — e frge S @ YR 230 V, 500 W, 50 Hz, el § 1wl 230 V weie s ¥ -
(A) Toge devw ¥ (B) & & ko (A) = W ww AW (B) ofgg o=
(C) uhwy faws o (D) wdl g% T o | (C) o 7= (D) i T o ==
95  Which law is applied to find the direction of force of conductor in DC motor ? 100 The ratio of RMS value to average value of an alternating voltage is known as -
{A) Fleming's Right hand rule (B) Fleming's Left hand rule (A) Form factor (B) Peak value
(C) Faraday's law (D) Lenz's law g\g);\ Averigi value (D) Q-factor
A P S, Wex ¥ W o ww o R @ vea w0y % Ry @ Rear o 37 ERUERECRERE % T A W A q9T oNEd 9 @ O HEe § -
(A) wfm F oY T @ Prem (B) wifm ¥ a Ty = fraw if}m 3 (B) i =
©) W @ Prom (D) &= @ Praw (©) e = D) Qg
63_(1920)1 + 20 [PT.O 63_(1920)] + 2 [PT.0



101 The Mewati dialect is spoken in the . areas of Rajasthan,

P

&)

(A) Ajmer - Beawar {(B) Alwar - Bharatpur
{C) Karauli - Sawai Madhopur (D) Dungarpur - Banswara
T I S W o 5 ¥ g Wy ¥
\ i Y
(A) oMY — =R

(C) & ~ TIE AT

(B) om@aY — W@
(D) YR~ ST

What is the subject matter of Pichhwai paintings ?

(A) Barzhamasha (B) Geetgovind
(C) Rasleela (D) Hunting
Rrgars fosie o fovaesg #=r ¥ ?

(A) STCEAEN (B) “Taifow
(C) T=erm (D) Ty

The art of 'Blue Pottery' belongs to which district of Rajasthan ?
(A) Bikaner (B) Udaipur

(C) Jaipur (D) Jodhpur

TRy § R Wl e ow ey g R 9 ¥ 7

(A) FrR (B) weagt

(©) sag (D) wiEgT

Narayana is a known cenire of
(A) Bishnoi sect
(Cy Dadu sect

(B} Nath sect
(D) Ramsnehi sect

BIEEL . B TE-AET % T
(A) Tayg qomm (B) o e
(C) =" 9y (D) TwEE TEER

Which of the following forts is also known as Sudarshangarh ?
(A) Nahargarh (B) Jaigarh

(C) Sajjangarh (D) Taragarh

T A @ @ TP gETe % W @ o o Wi & 7

(A) 7= (B) wwme

(C) wowme (D) e

63 (1920)] 4 22

(A) Chittorgarh (B) Mehrangarh
(C) Lohagarh (I3} Ranthambore
| W wew @l Ry ¥ 7
(A) TRETS (B) wgwwe
(C) wEre (D) oremiie
167 When was the fort of Chittor occupied by Akbar 7
(A) 25 February, 1568 A.D. (B) 28" February, 1572 A.D
(C) 6 June, 1575 AD. (D) 15M January, 1576 AD
e 7 R % e W ey ey R 7
(A)y 25 wegdy, 1568 3. (B) 28 wEdr, 1572 %
(C) 63, 1575% (Dy 15 w9, 1576 %.
168 Who was the father of Prithviraj Chauhan - II1 7
(A) Prithviraj - I (B) Arnoraj
(C) Someshwar (D) Ajayraj
TR WIE gae % R B g 7
(A) geEmT (B) e
(C) dFMsEx (D) emETw
109 The civilization of Ganeshwar is associated with which river ?
(A) Kantli (B) Saraswati
(C) Abhar (D) Sindhu
OIS WA W T fhg T g R 7
(A) wiew (B) wEd
() oree (D) Ry
116 Which coins were issued by the Mughal emperors in Mewar after the conquest of
Chittor by Akbar 7
(A) Rupak (B} Dinar
(C) Sikka Elchi (D Drumm
FHeT W fadis fovw % Twia fare ¥ g ol & R See T R o g 9
(A) wum B) ¥
(C) Ryerest wwel D) ==
63 (1920) 1 == 23

» Jogi Mahal is located at -




T il which is fi i i i : : 1§ langala, Bhagyam and Aishwariya are -
111 The soil which is found in maximum area in western Rajasthan, is - 116 Mangala, Bhagyam and Aishwariya are

AN s P T 3‘-‘-’ s ﬂrw:r{.g; baoy fﬁ—s\t H o g i Harmet
(A) Alluvial (B) Black g/—aj I &;z‘g Azmrs.,s& from Rajasthan (B) {}3 field in Ban
(C) Oil field in Jaisalmer (D) Village in Jaisalmer
(©) Sandy (D) Yellow-Red gj, Gil fie i:%,‘ i s; ai ,ﬁ; er (D) Village in Jaisaln
L. . N 5 (TR, WIOH i UsEN B -
ET W OREE S A waEie & N e g, 9% 8 - ‘ e _ .
) B (A ToEm B e aiRmiBd (B) srE9y EAERAE]
/ﬁ.& it { S EGH oy —__— =
(A) wE R (C) duemy ¥ oW & (D) Jrowiy & T
(C) Ry (D) wE—qw
' 117 Which among the following pairs is not correctly matched 7
112 In which districts of Rajasthan 'Khas Grass' is grown ? ‘ (A) Bheem Sagar —  Jhalawar
{A) Ajmer, Banswara, Chitforgarh (B) Dhaulpur, Karauli, Alwar : (B) Jawai Dam —  Pali
(Cy Kota. Bundi, Jhalawar (D} Sawai Madhopur, Bharatpur, Tonk ; (Cy Parwati Dam —  Bhilwara
TRy % fe el ¥ o o salkg B ¥ 7 (D) Jakham Dam - Pratapgarh
(A) owEz, SieaE, e (B) dyx, HIE, AT freafefae & @ @S- @ galve =¥ 7
o . (A — Te
(C) =@, ¥4, FwrEe (D) waw WEIQR, WROQR, <% (A AW Wﬁ AT
(B) war S - U
. . : 0. C) e §fy - UGS
113 In the south-castern hilly tract of Rajasthan farming by backward tribes is called - (€)= . He
P D)y s Wiy - ERISHES
(A) Valra (B) Chimata D) % E i
(C) Dry farming - (D) Dajiya 18 The disticts hav N ——
N . . The districts having lowest Earthquake prone areas in Rajasthan, are -
T & - verEl & ¥ enieardy @R ST S WA @7 Ry € OO® @ed § - o : 3 .
{A) Shri Ganganagar and Hanumangarh (B) Alwar and Jhunjhunu
(A} T (B) fawmen . o e
(C) Alwar and Bharatpur (D) Bharatpur and Sikar
(©) g Py (D) = TR % e S R s v 8% 1§, T ¥ -
(A) AR ¥ TR (B) o 9 g1
114 The Lunkarnsar lift canal is also called as ___________ lift canal. (C) &@eT g wlagy (D) @R F €T
(A) Pannalal Barupal (B) Kanwar Sen
| (C) Indira Gandhi (D) Veer Tejaji 119 'Rajasthan State Road Transport Corporation' (RSRTC) was established in which
U e T fewe e ¥ v @ o Wl o ¥ year ?
. - T ? iy 3 ) $ v 7
(A) ST STETE (B) % TSR T 9y IREes P (emeog.en A d) o woen Rpg gd o) g o 7
. (A)y 1956 B) 1960
(C) shRexy el (D) ¥ ey (A) (B)
(C) 1964 (D) 1972
115 Which one of the following places is not connected by National Highway No. - 15 7 } . . . . -
j iy &p iy v atonal Highway - ! 120 Pachpadra is 2 known producer of which of the following minerals ?
(A) Japur (B) Bikaner ‘ (A) Vorites (B) Lime Stone
{ < 3 " LT p
(C) Jaisalmer (D) Barmer (C) Salt (D) Fluorite
frefafan & ¥ BF- WF TSE TSR g9 - 15 R JET ger T8l 8 7 et Rre Wi & T oaEs ¥ 98 b -
(A) wEYR (B) smrY (A) drmEeH (B) T weR
(C) wrEeT (D) wE™Y ‘ (C) & (D) weiEe

63_(1920) ] 4 24 [PT.O. | 63_(1920) 1 4 25 [ PT.O.
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121 Out of the following whose idol is formally placed in the Choumukha Temple of

&

126 Who was appointed the Prime Minister of Matsyva Union 7
op Y

(A)

¢

Ranakpur ? Shobharam (B} Jugalkishore Chaturvedi
(A) Adinath (B) Neminath (C) Bhola Nath (D) Chiranjeelal Sh
(C) Parsvanath (D) Shiva ; H WY W guEEs] Y gy v 7
frer ¥ @ Trwesl IR TR % dier whet ¥ ukifed § ¢ (A) ST (B) wrelesie aged
(A) enfesg (B) =ty (C) ey (D) FEew e
(C) gy (D) Be
\ 127 Who started the publication of newspaper 'Rajasthan Kesari' 7
y b
122 Who built the Junagarh fort of Bikaner ? i (A) Tarkeshwar Sharma (B) Nathulal Jain
{A) Rao Bika (B) Maharaja Rai Singh (C) Vijay Singh Pathik (1) Durgaprasad Chaudhary
o S 7 & “3 S X i
. . ‘ iy 7 s a7 B ?
(C) Rao Kalyanmal (D) Maharaja Anup Singh (STRUT ]! THTERYN B G b ST [l
i (A) TrEHyaT 9™ (B) Tu@® O
T & e Tew @ el fees wemr ? ; { g A B AN
. 3\ : { O
(A) T S (B) werten TR | (©) fosmafie afs (D) gise <rerdy

(C) T HRHH (D) wErst Suis
128 Which of the following princely state was first to conclude treaty with the British
. . during 1817-1818 ?
123 What is the main feature of Jhalrapatan's Surya Temple ? 8

(A) Adirath (B) Astabhadra () Kara:wé ®) 5:1@;;3

(C) Saptarath (D) Astashal ‘ ©) Udazp?f X (D) Jodhpur o .

) , 1817-1818 & & Frafefa & ¥ om-8 Rurad yaw Ff e offs & @iy §fy &t ?

FECURT & qY Al o Te g v ¥ 7 ‘ 5

(A) ®lE (B) @
(A) oy (B) omHg (C) SR (D) e
(C) waX™ (D) ereone *
129 Jamnalal Bajaj and Kapoorchand Patni were associated with which of the following

124 Who was the first woman of Rajasthan who got a seat in the Council of Ministers 7 Prajamandal ?

(A) Sumitra Singh (B) Ratan Shastri ; (A) Jodhpur Prajamandal (B) Kota Prajamandal

(C) Narainidevi Verma (D) Kamla Beniwal ‘ (C) lJaipur Prajamandal (D) Bikaner Prajamandal

TSI @ Fu AfEer B off {g dfmesw F i fa 7 | ST G99 U HYIEE Uil e yerse ¥ gs ge ¥ 7

(A) gher fbE (B) <o el | (A) SEYR FETHSH (B) @ ywrsd

(C) rriielt a9 (D) wHe SHET (C) TR weTHEw (D) SoET TR
125 Who was the first woman Speaker of Rajasthan Legislative Assembly 7 130 Who founded the 'Paropkarini Sabha' ?

(A) Kamla Beniwal (B) Sumitra Singh ; (A) Kesari Singh Barhath {B) Swami Dayanand Saraswati

(C) Vidya Pathak (D) Ujala Arora (C) Harvilas Sharda (D) Thakur Gopal Singh Kharwa

T U W & guw At oy o off 7 T g9 @ e fee @ 7

(A) B9Er S (B) ghmn Rie (A) HIIRiE IEs (B) wrl surE aEd)

(C) R wow (D) S STl (C) st O (D) orpT ToEiE gxa
63_(1920)] 26 [PT.O. 63 (1920)1 27 [PTO
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136 'The pair of districts having Teak Forest, is -

131 Gap Sagar is situated in e City.
(A) Ajmer (B) Mount Abu (A Udaipur - Dungarpur {(B)y Jodhpur - Jalore
(C) Dungarpur (D) Alwar | (C) Bikaner - Sikar (DY Sirohi - Pali
e g E Rum b o€ TS g™ ol W B e 9 W, ¥ -
(A) e (B) R oy (A) &Y — R (B) Wy - e
{{;\} W {D} RE {C} @PW%W - W {E}} %\‘ﬁ — Y

5 . " . . % e Gt v Waods visation Proiect located in Raiasthan 2
132 Who was the teacher of saint Ramcharan - the founder of Ramsnehi sect ? 137 Where is the Som Kagdar Irrigation Project localed in Rajasthan

1 1 : { A 3 /TN TTAaiems:
{(A) Charandas (B) Haridas (A} Sirohi (B) Udaipur
(C) Kriparam (D) Laldas (C) Kota (D) Bundi
TIEE TR & S O e 6 e ¥ 7 T ¥ 99 wrey g ahaeer @e Rua ¥ 7
(A) =R (B) wfem (A) s (B) weaqR
(C) Fa™ (D) wwER (C) et (D) ¥

138 Which place is known as 'Varkoyansk of Rajasthan’ ?

133 Rajasthan day is celebrated on which date ?
{A) Mount Abu (B) Churu

(A) 30! October (B) 26t January :

(C) 30t March (D) 14t November (C) Fatehpur (D) Udaipur
o e Reg Re w wEr €7 e ¥ ¥ e WE @ TS W SeigieE BEl Widl § 7
(A) 30 sy (B) 26 sl ® (A) W= ey B)

(C) 30 = = (D) 14 =T & (C) eyl (D) wEagR

139 World famous Water-bird Sanctuary is situated at -
(A) Udaipur (B} Mount Abu
(C) Bharatpur (D) Jaipur

134 What is Ravanhatha 7

(A) A type of Dance (B) Name of Book

(C) Musical Instrument (D) Name of Place
o d 7 T & ol % g e Ui sue efalse T W aRng 7
gga};‘@ H H
(A) T® I w1 T (B) g&& @ A (A) SEIg (B) A= o
(C) amEs (D) T ® TR (€) =R (D) s

149 Jhamar-Kotra is famous for :

135 The ornament 'Nevari' is worn on which part of body ? ) )
(A) Dolomite {(B) Rock Phosphate

(A) Waist (B} Neck , ]
(C) Hand (D) Ankle (C) Gypsum (D) Felspar
: TAT-@EST UiE ¥
Fadl emwe s & g s W s W ¥ 7 '
(A) &< (B) e (A) SIEH g & ?@T{ (B) F BEHE B %?Q
(C) w1 (D) @ (C) forem & fg (D) SR & fog
]
63 (1920) ] == 29
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: . ; . v o ' Wihich faoil is mainly found in Jodhpur, Jaisalmer, Barmer and Nagaur disiricts
141 Where is the headquarters of North-Western Railway ? 146 W%ﬁfb& type csinam is mainly found in Jodhpur, Jaisalmer, Barmer and Nagaur districts
of Raiasthan 7

(A) Alwar (B)  Bharatpur (A) Red soil (B) Black soil
(C) Kota (D) Jaipur (C) Yellow soil (D) Desert soil
Tl ufdEdr @e & ey %8 ¢ 7 R & SIEYY, SEaet, e ofR AR Rl A oo w0 € we-w ger ol e § 7
( A) W TRl (B) @ e
(A) @rER B) W@ (A) 1 ( ]
% ) ) (C) Ut wE (D) wowmEr ga
(C) & (D) sy N ) -
. ; 147 Which is the only perennial river of Rajasthan 7
142 Which of the following is not a 8Salt Water Lake 7 (A) Luni (By Jakham
. Y ] [y hinor
{A) Lunkaransar (B) Didwana (C) Chambal | \ (D) Khaari
: TR W] UHATE §TEHT] FEY Bl B 7
g halodi { Ansas T i
(C) Phalodi (1)) Anasagar (A) T (B) e
freavfae fd e e o S fa 7t & 7 (C) ==« (D) e
(A) TUrETITET (B) Ir=am
(C) @A (D) SIFTETTY 148 Which of the following districts of Rajasthan has an international and inter-state
boundry 7
(A) Jaisalmer (B) Barmer
143 In which district of Rajasthan 'JThakham' Multiple Project is located ? (C) Bikaner (D) Hanumangarh
(A) Tonk (B) Banswara e & Py A o few B o ey wd el d ¥ 7
(C) Dungarpur (D) Pratapgarh (A) SrEwET (B) @R
wrEE gSedid uhENT e % Be-d e W Rea g 7 (€) (D) Fgre
(A) 2= (B) wreemst 149 Which physical division is called as life line of Rajasthan 7
(C) ¥RL (D) wamTe {A) Semi arid desert (B) Aravali hills
(C) Hadoti plateau (D) Eastern plain
o HE-TT HIkie YS9 TORY & SeeiET 8 W § 7
144 In which year 19™ Livestock Census was conducted in Rajasthan ? (A) o % e (B) P
J N3 ' ‘ i ¢ ¢ ' A
(A) 2007 (B) 2010 (C) TEd 1B (D) '/
(C) 2012 (D) 2015
e ¥ 199 TR ol e ? 15¢ Which of the following pairs is not correctly matched ?
River Place of Origin
A) 2007 B) 2010 )
{ﬂ? - (®) . ; (A) Banas —  Khamnor Hills
(C) 2012 (D) 2015 (B) Banganga - Bairath Hills
(C) Kantli — Khandela Hills
145 Which type of energy source does not pollute the environment ? (D) Kakni - Taragarh Hills .
. . e oot & ¥ a9 gk W § 7
(A} Coal (B) Petrol = ——
™y + 2A ST AN -
(C) Atomic (D) Solar (A) wE L g e
foper w1 G G wateRer @ wgi T e € 7 (B) wwrim - U el
(A) g (B) UgH (C) wiaw ~  EE uEEE(
(C) Wy (D) ¥R (D) =t - TR SR
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